"TEATARFERPF D

B { \’f' g g;—%:jm.[ﬁl;é A oBRE

TE NP RTATERGF AL

K4

FiriER ¢ (TMCS)2 &MTAR 5

P ETARRS
A

s

Fg 2
T

s\

FE2RAF2ATAR
@wﬁwﬁ,Jﬁ

(% Y4

iE

FI% A G RT R | TMCS #7224 | TMCS Rm i
. AR e
%57 p R w3 fim e TMCS 3.7
—cEEF - & |- v EEFII | - AT RTERGT PP RATARIE | - 2 AR BN
| Y A sl | o2 2~ 'J.\l’~' . P ﬁa £
PRI (GHZ |\ BoRAYE |\ URERSl RPFAXLS FTRRGFAILER | 2 LA
%:Q%&gl&??\ifp 1()\ <5%FLL£ i—ﬁé\iﬂ Ea F&i'g\ﬂ,?iﬁﬂif\j IS j‘g%’i?a‘wggﬁ 4% 2
T;E-'liffgj'; ?“TE"T HiApE ) 2 | B e —‘l;’i’?’*‘wr@' BEA{F L2 39 i,;('%g,s, K4
[P&v: 3540—\% 7L4F| s 1) 0754""‘% o |E = \—_ﬁ}t'ﬁ_ﬁ ?ql—_"){? ;;Li‘f '3" A ;'r"f-j o ?_,%‘E-‘ .41_7\ ) E;,B“t&]
250 § 3+ - RS E A S Sl s LICSLILE Sidy & S5, SR I %#ﬂ?ﬁﬂ’vﬁf’@ﬁ*‘ﬂ‘
B 2505 | fILFALE | (- Of T FEEAG AR Y A A
~E 5y 250 | T 2L § , /'._1—‘2' “r g?’;{“p%ﬁ_ﬁ_ﬁ:}]\,ﬁz\/ '&
_f ¥ %lfﬁo . F* F AR G JIE AR Q’Mﬂifigawﬁ
' 7Lt oo ERR Sl SR |- igﬁ"fﬁ\ﬁéﬁ#%frﬁ.;rﬁa@% CACE L
- \Hﬁ#l} g \ﬁé’#l} ‘H:E;\E’:ll_?_‘-&)i IFJ ﬁ%ﬁi\h%%liﬁ%ﬁag&k - _ = '{1 g ,},_a’-r—// ,02
lepfEmurgsr | 1Lap 3 LAz F ez Wiy F EFFL SFFE R ‘4)@* N ?_* il Rldap 2u
15000 %34 o MEFES |- mIy e BRI & 7 AR - *$1Ti o
2.8 %% # 1 nAxF & 15000 ~3+E e Cﬁf%”ﬁ—&&%%ﬁ»ﬂguag, LAk pELE R -
%100 A - 2. %4 8 xR @R 250§ Ao m| L BEETEEEA
S $E TS EY SRy ﬁ<ffm 4ﬁ‘ﬁﬁ
100 =+ & o A o FhEHiTa E REREAR
( )TMCS o 4\_"_}';_&;125 __g ?‘QEE"';}';T*E -H'v]/{u' é}ﬁk’l} s fe ’ET L‘f
S A LRTSR 15,000 2 o ¥ EATIE EO0
B MUST # S iFpd b 3 BenE w2y T RAkew FJ%"A\?’H%
%HZP-Q-F]-Q-,;\ 158 = » #4c 5 A 4 48 ’IIB" SR S
RErALEF PEAMR By EEFE
238d % b ? S pRF AR &
= R FTMARL B AE P ARITEAT LR




Fir A FHE P
AP

TMCS 72 4
® ;é[’l;ﬁul

*1‘+-

TMCS R 37 i
* 3F ﬁm 3:

ﬂ’flj?r /\T‘éﬂa

TMCS e p?

¥

FIMCS ¥ 8 52 2. 5 #
FooH Y REesY {8
FEH g 2 PR
* TMCS#7 ¢ 122 5 # %
|2 Fz g
S A THCS 78 g 2 T g
TR EPEH PP R gL
FPF o REMSF EisefEs 8
VR AR
BoLuw ks - EE e e o
A LN s X ER L
(- )IMCSIL {7 /& * 4 A 2 & § £
for (gape s geilig) ik
won PR AT A Y
ZERE N S R AL = 4%
NCEE AN AN SIF-4 N T

T3 29,660
25 104Fl y &
FE e

F*rm&

i
A
F
)

XN

it o

E%T

Fiei TERR 2 der | L2348 Adim
%b;ﬂl
P =

(CHERBFLTR- LF FHErR?
7 K 131 THCS & MR E AR 2 fiE 68
AWHBERTEPF L TMCS # B #
i = (RERL B -R2 0
&) x 0.003% -

(Z)&PFRZR 2
L ROReE

FIgd pF o T E AR
MRS pr el A
oo = A HE e £ 1
P e EiT 3 A AR
WL LEFRY SR e

o~ * 2 B2 F
ﬂ\gmr? g*d'VT\JFF
IFV'WF'F%‘B}\ R
KGR B -

ARl gl T B B 0 ¥
A TARAEE & B AT
* o

I AR EMAE

(CREIER -8 3" I S
BE RN P S
BN - A KA
AR o A g BRI
BEF I EHEFE
SN R TR B
B85 R G pHE- R

(Z)F 3B 5§ B2
A % 3 0 JASRAC ¢ 14 1
= E AR T~ 21, 5%
TEHW A FE X

p 64,000 %35 o

TMCS-2




%“%Eiﬁ

s S =
29 £)2 0.0039 ;> 4% priipsiE T
2~ 0 TMCS 2% &

HAR N2 BT S PR -

WEEQEE > M

¥ b A
FirE @ £ (

I I S

S F AT ) T(2ER S R B A
THEW F ) TR 2R LG RFF ()20

2

\:F_;'_‘F]’; Z_ o

SRR AR SR ARNATLR D0 B T S I RA IR | A AR o
TMCS w 4R ¥ -4 2 4R » T F 7N A MAEFF 200§ “armit B @Iz 250 .

= G TMCS Jeat 2 2 2 MR T AR & 2 B IEPRRR @ * RIS LR AN 0 SRR R

@>%9%?$1?E*§§@?%%%?$9J“%$44%gﬁmﬁm98ﬁ§\@?$m¢ﬁ(#gwﬁ:«
B $53) FTHEFFFEEFN LR EMEFIEAA LI MERL

C>@?$L?%t@ﬁ%ﬁﬁifiﬁ PR L ? R AAHL S A ?

(ZORPPATE A g2 02d o 2 3 5 25 0. T5%2 1 % idjie & 7 gifimpl o 2 o

o IMCS 7 Ew 3 & p 3 #15,000~~ B4 5 2100 Ao @iz 3-8 250 6

Tl iR A ik PR(oRMFERF2EY § F)RFE B ER2Z Y P T HRE Lz ki
ERIRAG LT HERL

TMCS-3



